PITT Qube SEH-50X-AAO-5
ORMEASEBROBEFT>TEY A, DEMIEFERKERETHIENHYET,
OXRTMEFIOEERIEEENTEY A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/03/31 17:47:51




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEH-50X-AAO-5

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE i RE - ME B EM wE

1 012019502  [SE-50X # ¥7°¥-2 ADC 1 6,700

2 011266205 [SE-50XIRAT SV ADC(G#y") |1 1,600

3 011266501  [SE-50X Fvv&n h7° NBR 1 900((N)
4 011807802 [20A754 4 % 2 600|PA-156(4971770-102156)
5 011257907  [SE-50X 737%" 7 3hvb ADC 1 5,100

6 011353304 [SE-50X-1 iB&= ADC 1 2,700

7 011353202  [SE-50X-1 17A°3 FC 1 2,600

8 012084701  [SE-50X Y4vntH757%" (PS) I%/|5|v||v|/501v| 1 3,700

9 011054102 [SE-50L-1 75V oy x> CR 1 400|(N)
10 |012707001  |KM-50-1 A"-243 SHLE 1 8,900

11 [012269401 [GX120T2WMKIT >V v 1 0

12 [011815901  [SE-50X AM-F-93 (1E)4E) PP 1 2,200

13 [034078101  [SM-25 1y7° Uv)" ABS 1 400|(N)
14  |034078201 [SM-257TDFzv7° ABS 1 300

15  |034006501  [SM-25 197" Uv)" 1’ v%y CR 1 300[(N)
16 034078401 [SM-25 25X15%5/3297° I ABS 1 300

17  |034078301  [SM-25 25X201TDF=y7° I ABS 1 300

18  [940019060  [f-An" VI $60 3 300[(N)
19 [940019032  [f-AN" UK $32 1 200|(N)
20  [940019026  [f-An UK $26 1 200((N)
21 |940019022  [F-An" VM ¢ 22 1 200|(N)
22 |011501401 [0V l1\1581R7-42.5 1 500[(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 17:47:51




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEH-50X-AAO-5

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE & - HME B Eff iBE
23 011279201 [OUyy° P54 NBR 1 0o[(N)
24 743119045  |MAN BILRESHERASAT Vb M8x20 3 200|(N)
SWRM

25 743119047  |MAN BILRESHEASET Vb M8x25 4 200|(N)
SWRM

26 743119051 MAN FIE T BE SRS AT b M8x35 4 200|(N)
SWRM

27 743119046  |MAN BILRESHEASAT Vb M8x2 2 4 200|(N)
SWRM

28 734532076  [NATFMERIL b M8x60 SCM |4 200|(N)

29 854255008  [-W7vy+ ¢ 8 4 200|(N)

30 827419008 ["&EF v b M8 1f&Fh |4 200((N)
SWRM

31 011046601  [SE-50L 4YA° 7EAEE)yI4- BSPT=0.3 |1 200|(N)

32 011068804  [SE-50L Ahzihy-bT CARBON 1 2,900
CERAMIC ¢ 1
8

33 012091806  |SEH-50X-AAO-5(KH-50GT) $#4Rk FhOY7 1A 1 200|(N)

34 |012800501  [SE-50#tAS7v4vF097° Vv 53 2 4,800

35 011800301  [BtREALRYITTDF /N -{F2" 2 2,900

36 012047901  [SE-50 haRysn® v¥v (Y0 £F) NBR 2 600((N)

37 012021102  |#iBEhANYIALR(2") PA 2 1,100

38 |012021301  |BIAghADyIAIKN 917 (2") NBR 2 500[(N)

39 011742303  |SE-501E7K* + v 74 3(25/50) 1 800

40 012230701 [SERl®OH A R/IRRILSNIL BHa-k7hy |1 300|(N)
+PET

41 889955025 |OYv4° G25 NBR 2 200|(N)

00 012091902  [SEH-50X-AAO(KH-50GT)N y¥4" §-2 HC6E1& |1 2,200

00 012013704  |SEFISCEH@ENIRERBAE /44190 A4 P12 1 O[(N)

00 012092003  [SEH-50X-AAO(KH-50GT)ER k4R A4 EEEIRI |1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 17:47:51




